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2. Model He ollowng situaton Qsm,drwmchgap’s andgwc the
m'mporziry adpwmg matrix,

(@) Ahmad and Bakn are frends. Abmad s ako Hrends with David and Chong.
David, Bakn and Ehean are all frends.
(Notz that "ﬂd useﬂ!r?rombbm of H:ﬁhM,B=EGM.C'Chx3,

D:Oavd , E = Ehsan)
Solubion ;
A B C DE
Al O t 1 10
8l v oie a4
R5=c I 0 p 0O
|t 1 o0 01
elo 1 0o \©

(b) There are 5 subjects 1o be scheduled in the exam week 3 Discrete Mathematics (DM),
Eyanr;mrs Technique (PT), Acbficial Hrﬂgmcc (RI), Probaboluy Stabstics (PS),
I

armation 4 : -
o System IS).meﬁhutgs)aw&mmtbcx}uduhd in the some

=DM and IS
ii- DM and PT
i = AT and PS

iv- IS and AT
Solubion

(OM) oM
@ G .

X
— e o

o 0-0%
OO0 O0o-3
=500 08
Og — 0 OF
QO - o -3




Question 3
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Question 5
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Question 6
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Question 7
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Question 8
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Question 9
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Question 11
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Question 15
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